AMS/ECON 11B Quiz 2- Solutions

(1) Compute the indefinite integrals...
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Substitute v = 222 + 7 = du = 4z de = xdz = % du, so
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Substitute u = lnx 4+ 3 — du =

dx, so
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(2) Compute the definite integrals...
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a. (Spts)/ 32° + 4z +5dx = z° 4+ 22° +5z| = (27+18+15)— (1+2+5) = 52
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Substitute u = z° + 1 — du = 2zxdx — xzdx =
Also, limats of integration change accordingly:

=0 = u=0°41=1 and =3 = u=3%+4+1=10, so
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Alternatively, find the antiderivative first (using the same substitution in the corre-
sponding indefinite integral) and then use the fundamental theorem of calculus:
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